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Exterior Angle and Triangle Sum
Theorems Task Cards

Show all work to solve the problems.

Name I

I

1 J6lve forx:
L Fasx = 44 +(18x -2)

73]

2 folvt for x:
Iy +14= (145x) +76

(x:?f

3 Jolve fhr x.:
I2K-3 =(5x +7) 114

75)

4 olve 4or k:
2ax Hi o=k 4120445

5 Fink» m~LABOC.

99 (6% +8) + 5% +2

X= &
L ABG= 4

6 Findb m<ABC
R0= (19% +2) 4 (2 +2Ix.)

[ %=
Zh\zABc,:'fo‘)

7 CindomL CARB,
110°= (L46x)+ 12w
Xz

< CAB = 38“}

—]

8 Lind, m4ARe
[3% -6 = (AX+8) +H2
K=h

A ABG = I

9 Jolve for X.
L+ 2% +(x+15)= )§o

i)(‘— 33[

10 yive for .
X FI(x+38) + (x +55) =150
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